Pull of x for PV

Ratio

Pull of y for PV

Ratio

Pull of z for PV

Ratio

Pull of x

= s

e S S

Pull of x for merged vertices

RS RS SRS SN S S

LT, R T e S s

Ratio

1015 20 10 15 20 %0 =40 20 0 20 40 60
Vertex z (cm) Vertex z (cm) Vertex z (cm)

—Pa e+H3-a ep Lt 250
— 000 etalp6to2p0
2, > 2 - - - - T 0
[ 5 oo : 4 3 r
i : I HIE : : g r : i : : £ | i S b s b b bbb
R o 1 e ] B R S z L L
L : HIIEY A : g=] L : : : : :
Eo s BT O AR S SR
1.6p----F----- PR e R dd = B N ] B N R PP ) r . . . . .
o : ATHEN) : : £ [ : : : : :
EoE LT e FJO )| ESOUOE S S PRI AP S
It R N R R N B R - F : : : : :
SRR L N T
Lot R F OAp
| I b 111 I . o2k Feveeees beeeend P R S
: o o q_""'
g g F
o o [
0.5_— '''''''''''''''''''''''''''''''''
%0 =40 =20 0 20 40 60

10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)

Pull of z

08

e S S

=

Pull of z for merged vertices

7 RRES RIS NS SRR S S

S s St TS S

[a] NI NI AP WA e L

Ratio
Ratio

s S S e

16 15 20 %0 40 20 0 20 40 60
Vertex z (cm) Vertex z (cm) Vertex z (cm)



	Contents
	Page 1


